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Algebra 1
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Simplify.  Your answer should contain only positive exponents.

1)  (2x4)2

A)  8x9 B)  256x4

C)  4x8 D)  81x16

2)  p3

A)  −27p12 B)  256p4

C)  −64p12 D)  p3

3)  (2p)2

A)  4p2 B)  9p2

C)  p3 D)  64p3

4)  (−3n)2

A)  n8 B)  16n8

C)  9n2 D)  81n4

5)  (−a4)3

A)  256a12 B)  −a12

C)  4a6 D)  a16

6)  (3v3)2

A)  
v8

256
B)  −64v12

C)  
1

v4 D)  9v6

7)  (−p4)−1

A)  
64

p3 B)  81p16

C)  −
1

p4 D)  64p6

8)  (−3m4)2

A)  9m8 B)  256m4

C)  
m
4

D)  −
27

m9

9)  (3b4)−3

A)  b12 B)  
b4

4

C)  
1

27b12 D)  
4

b6

10)  (−3x4)4

A)  256x8 B)  81x16

C)  
64

x9 D)  27x6



©V ]2Z0Z1d8O ]KyuRtwaK FSVoGfxtjwzaPrTeF ULfLZCW.T D \AClelL HrXi\gnhht_sK MrpeTsGewrevdewdE.M W yMbajdUeE zwJiqtlhK FIsndfPiInSiMtgeX tAtlxgJeMbLrgaT S1E.

Worksheet by Kuta Software LLC-2-

11)  (2b−1)4

A)  
1

2a2b2 B)  
1

b8

C)  −
b12

a9 D)  
16

b4

12)  (3n−3)3

A)  
27

n9 B)  −27m9n6

C)  n3 D)  
m3

2n4

13)  (3y2)2

A)  
16y12

x16 B)  16y2x8

C)  y3x9 D)  9y4

14)  (yx−3)−1

A)  
x3

y
B)  

y8

9

C)  x2 D)  
y16

x16

15)  (3x−4y4)4

A)  
81y16

x16 B)  −27y3x9

C)  
1

x12 D)  1

16)  (2x2y4z4)0
 ⋅ −2x−4z−2 ⋅ −y−4z4

A)  
z8y8

256x16 B)  
16

z4y8

C)  
2z6

y9x2 D)  
2z2

x4y4

17)  m−1n−2p−1 ⋅ (2pm−3n−1)2

A)  
p12

16n20m16 B)  
m3

pn3

C)  
4p
m7n4 D)  −

32p6

m16n11

18)  (−m0q−3)−4
 ⋅ −p4q2 ⋅ 2m−2p2q3

A)  −
q13

m8p16 B)  −
2p6q17

m2

C)  
m14p4

q16 D)  
16m12

q8p16

19)  2p3q3 ⋅ (−2p−4)0

A)  −16q3m2 B)  
p12

q8

C)  
2q20

p7m8 D)  2p3q3

20)  2y4 ⋅ (2zx−4y−1)2

A)  −
16y2x16

z3 B)  
8z2y2

x8

C)  
x8y16

256z28 D)  
4x6y14

z12


